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1 Introduction
In last RAN4 meeting, a way forward on RRM requirements for RedCap UE was agreed in [1]. In this contribution, we provide our further consideration on the remaining open issues of RRM requirements for RedCap UE.
2 Discussion
	Whether SSB has to be in UE active BWP for meeting the UE transmit timing requirements
· [bookmark: _GoBack]Option 1 (Xiaomi, vivo): SSB has to be in active BWP.

· Option 2 (ZTE, HW, CMCC, Apple):   Redcap UE should meet the existing Te and Tq requirements provided that the SSB is available at the UE at least once every 160 ms regardless whether SSB is in active BWP.
· Option 2a (MTK, QC, vivo): Redcap UE should meet the existing Te and Tq requirements provided that the SSB is available at the UE at least once every 160 ms and the SSB is in active BWP.

· Option 3 (E///, Nokia): Te requirements are met under any of the following scenarios:
· SSB is in the UE’s active BWP, or 
· SSB is not in the UE’s active BWP (RedCap BWP) but the following condition is met:
· UE’s active BWP(RedCap BWP) and initial BWP are within 20 MHz for FR1, or within 100 MHz for FR2.


As agreed in last meeting, type of SSB used to meet the UE transmit timing requirements can be CD-SSB or NCD-SSB. And we also agree to define RedCap UE’s measurement requirements based on the following scenarios:
	· Case A: Serving cell active BWP includes CD-SSB 
· Case B: Serving cell active BWP includes NCD-SSB
· Case B-1: All neighbour cells include NCD-SSB on the same frequency location as serving cell NCD-SSB/[CD-SSB] 
· FFS Case B-2: Some neighbour cells include NCD-SSB, and some neighbour cells without NCD-SSB on the same frequency location as serving cell NCD-SSB/CD-SSB


For legacy UE, the assumption is that there is SSB available in serving cell active BWP. We think the timing requirements should also be considered for the case SSB within active BWP. If the SSB is not in the active BWP and the UE configured with inter-frequency layers, the time period 160ms is not sufficient for UE to measure serving cell and cover measurement gaps due to RF tuning. 
Thus, we propose Redcap UE should meet the existing Te and Tq requirements provided that the SSB is available at the UE at least once every 160 ms and the SSB is in active BWP.
Proposal 1: Redcap UE should meet the existing Te and Tq requirements provided that the SSB is available at the UE at least once every 160 ms and the SSB is in active BWP.
3 Conclusion
Proposal 1: Redcap UE should meet the existing Te and Tq requirements provided that the SSB is available at the UE at least once every 160 ms and the SSB is in active BWP.
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